120928-3-8-9.notebook

&ggk‘ﬂ’?
2nd v ¥ wied.
d;/ . =B
at| = 5
Y RFL ¥= 12,
x n* L n"&
() &2 =9 9
T Y= 16T 1Y =28
d (" —_— y=ES
i; x "9
awd iagd o Rt >
2@\ + 206 ﬁ =0
() &) 2
r=r (;’),‘-p" 4;;/
A= ixy (xgY= ¥'yd xy 7

%r@‘:'m . %“‘:'Pe)Lm

X=02

= L(N() LD (7*2)
(=)

M{: $ea O

x%':.

-

(ot N (N - EVS) _ 3 go /
X=/2

e o dé

6 & Recdioms.
A= Levemr =mwr®

Sep 28-12:09 PM

October 01, 2012



120928-3-8-9.notebook

October 01, 2012

L‘(X\ = Linear J‘MJ'-‘QM op P@ Xx=a

I

o j..'..' appIox IS I-o'ov\

(near x-'i)

Ly ()= £ (x-2) +F)
- FG) + £ (xea) l

-

= P'(x)
o\\j - 'P'(X)CJX ’r\'vAj

LL0x) = fG) +£ &) (x-2)

Sep 28-12:29 PM



120928-3-8-9.notebook October 01, 2012

La()d= £\ (x-3) + F)
( amw)( :""‘?) +old ki

oS .
=
J-, = F'<K\ (X-‘\ Tu’pu‘cq.U7 vou!,W
= £/ dx be givem AXx
= £’ A %.Sg"”::‘z
T Lk 9‘429 oubw j
o 1l kvl E
h ql‘M Ve e K=V e‘x:Ax: %=1

§ mew xwtyﬂ* : /

L oo cani BaFron

Sep 28-12:40 PM



120928-3-8-9.notebook October 01, 2012

R c a0V P"‘:"‘ s odes of cam.
MHew Wmuch P"-":-'L'

h=30em
rF= 20dm p
= = .2 dm = Hhrdbmss o
dr Ar C.q"' OL‘P":-'J'.

/c;\
V= nmc*h
6.3‘_:: = Q“-flq + 'Tf
(@)
< %siwrk
¥ )

A dv = 2erkdr
o
AV = dV = du (20)G06)( :.)
X (353 98223 Few®
Akl AV ¢ v(ao.2) —V(QO)K 7

= W(ao.s\1(1°\ - T (:.o?(‘;o)

N

~ 3 BYSG, ﬁC?ﬁ‘q_ 379 699, i ey

’::@?. FSE2SH “.D

Crivor = 'Av_cjv l ~ I'#sa.'&s-...-?sz.m--/

Cer #s 29-3Y ~ BT I42
what's Fha Y% ermon”

( 3 FeFaYL )(no‘/o) ~ 49T a/o

2353 ¥Su Y

Sep 28-12:44 PM



120928-3-8-9.notebook October 01, 2012

Ly Y= £() (x-3) + £ =~ p('x)

id\a = ‘P,(X) dx =~ Asj

*FEML‘J L&..;.J oL x.
o+ Y

£ 2 £lay(x-2) L£G)

£ -FRY | £a) (x-3)
L L"A\.\ r, £ Ax = £'@)dx

LJ\:) ~ A‘J =~ £ 6BYdx j

Sep 28-12:55 PM



120928-3-8-9.notebook October 01, 2012

2.4%s 2,8, 13,5 18,22,29,30, 4,44,

use

@ Wem F eren o
b2 4% of actual
| i
s 4“:; h= 30 ::(’.‘.“‘.)

= 30 M e 30 mTes + S FesT
cos (4 F) "‘E“‘%‘ g&?‘&‘?

T
7 30 (*'&-* 3.‘._.2) =30 (2
-

(&)
ﬁ-:ll 4'7“4"\%:. n‘ﬁ
; =h =3°(?.+l oun guis .r'c‘h.p
s= ad.
h= 36dtan &

Jé—: = 30uct@ =2 'D,‘M*’-.J oLL s
Wﬂ.“
~ - +)
B2 dieboncolde "2 (o )

T wpitq Fhis oS
m“l..:.,..ljp f ot 1% of actwed

of wasagwas s
Wt ,,4 cl..J-B..JaJ-J /< J
I“m"’l‘ams I<J
@M . wagastne Mn"' WSS J-'mak’
k. J

Use Ah = dbh &as our measuns ol

Fho 2nen .
Reblute AW+ AS

Sep 28-12:59 PM



120928-3-8-9.notebook October 01, 2012

s heioht
chomge (‘ 4|
do < ﬁ-‘ (r) G )

20,218 5125 1D Asds

Beok gm’s L el Aeds = .sl'

Oct 1-12:28 PM



October 01, 2012

120928-3-8-9.notebook

o
P I
sl
) J
r% N
- ¢
T
L !
| c_..w
5 &Y
'Y
ﬁ_w "
~ \‘
3

Oct 1-12:34 PM



120928-3-8-9.notebook October 01, 2012

1
N Y4 S gof
St = S~
5
b I Yo 43T
© 4 “ 12
W - 3T

30 S'-eo"e < (0"‘) (‘!O -‘-m-.(?ﬂ)

do < (mz::g\: bt

- 0‘{ Svm o "- c.‘ '1’

Oct 1-12:39 PM



120928-3-8-9.notebook October 01, 2012

Mapls 5249 °
.04-sj11( 71'51 J-cos( 71-51 J

) 5 5
0.045]11[ 12 TEJ cos( 12 Tt]

evalf (%)
\ ~0.01000000000 lmJ-‘-MS
2180
Pi
\ 1800000000 (
"
evalf (%)

‘ ~0.5729577950 [ degpas s

Oct 1-12:44 PM
10



120928-3-8-9.notebook October 01, 2012

Cstumate s (32°) wlo cale.
Fe)s £E)=s (E)=3

L= s x F6)= cos x
X,= 2= 30" = 1(':— radc. ',F'(‘I\-ﬁ Cg(.rg)
Ax= 2° T

a+Ax = 30°+ 2~
=Ty 2m

@3
G 82 = 70

‘r(t +AX) ~ 'p(t\ + F’(g\(x_ a) = L‘(X)
o —— S )
= L‘%‘("\:" FR)(x-2) ++£6)
d - )
.”“;‘V"— = g(:—;)'l'?_ ’;’,Sh(‘%’l)

0= G-E)+3

Oct 1-12:45 PM
11



120928-3-8-9.notebook October 01, 2012

?eul.l a |" eube wit, 4 ,'7'“' w el
coat of pa.:g')‘- U<, J-\CEA.;..LJ;- R

-zg"' v:-.a'lf ‘Peu'-\.J' Lie d

.3 Cu‘l‘c \%CLS

oF pawd.

‘!x"’/'\ssal\l=

3

\|_|) = .33

AV = 1330 =1 4,23 ) cube aches

Oct 1-12:55 PM
12



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12

